(2x + 29)(3x +y) = 6x2 + 8xy + 2y?
(2x — 2y)(3x +y) = 6x2 — 4xy — 2)?

@ (2 + 2)(3r-3) = 6 + 4y - 27
( ( y) :6)62—|—xy—2y2
( )

3x—2y)(2x +y) = 622 — xy — 2y

_--2T-~__ 2y

A 5| 7h2 9] Aol (2x+2y),
Al22] BolE (3x-y) oItk
wtebA] A HE | Yol

(2x + 2)(3x - y) = 6x2 + 4xy — 2)”
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(x=8y)* = * +axy+by> & W, a+b o] FZ Ftolet.

(x = 8y)? = x? — 16xy + 64y? °|B2 g = -16 , b = 64 ©|T},
sa+b=-16+464 =48




3. (x-y+2)(x+y+2)E AWM Al 7P LA A3 A2

@ {(x+y) -z} {(x+y)+2z}
@ {(x-y) -z} {(x+y) -2}
@ {x-(+2}{x+ -2}
@{+9-r {x+9+)
® {(x-2)-y}{(x-2)+y}
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B-1D)EB+1)(3Z+1)(3*+1)
=(32-1)(32+1)(3*+1)
(3*=1)(3*+1)
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(x-4)(x-6) =x*+Ax+B L W, & A, B o+ A+ B 27

® -24 @ -10 ® 4 @ 10 @14

(x—4)(x—6) = x> - (4+6)x+4x6=x%+Ax + B,
e A = -10,B = 24°]3, A+ B = (-10) + 24 = 14|t}




6. (-3x+4)(5x—6) = ax’*+bx+c D, & a, b, c ol Aot a+b-c
o k& Fateie
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> =g 47
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(—3x+4)(5x - 6)

={(-3) x5} x% + {(-3x —6) + (4 X 5) } x+4 x (-6)

= —15x% + 38x— 24

=ax?+bx+c

watA g = -15, b=38, c = —24 °|B & g+ b — ¢ = 47 °|t}.




7. (2x+1)(5x+A) =102+ Bx—2 L uj, A + B 2] Zt-2?

®-0 @-5 @1 @1 ® 5

(2x + 1)(5x + A) = 104> + Bx - 2914 A x 1 = -2, WtA
A=-2 B=2A+5=10°]t},
L A+B=-1




8. 2x+3)2+(x+2)Bx+1)=ax® +bx+c¥E W, F5a, b, ¢ 9
a+b+c o 32?

D 11 @ 22 ® 33 @44 ® 55
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2(x? 4+ 6x+9) + (3x% + Tx + 2)
=2x% +12x+ 18 +3x2 + Tx + 2
= 5x2 + 19x + 20
a=25,b=19, c =20
sLa+b+c=5+19+20=44
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x+y=AR TOH Folzl A2
2x+y-3)?2=(A-3)2=(Q) -
olA] A thAlof| 2x 4+ y = HU5HA
(F4) = (©)-6(2x+y) +9

=4x% + (©®) +y* - 12x -6y +9

@@A2 @ @ A®
@ @(x+2y)3 ® © 3xy

~&B

® © (x+y)?

+y=AR oW, Fo3 4
(2x+y-3)2=(A-3)?
—A%2-64+49

oA A HhAle] 2x + yE YA

= (2x+y)*-6(2x+y) +9

=4x* +4xy+y* - 12x— 6y + 9

© @ =A% © =2x+y)? © =4xy
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11.

x(x=1)(x+1)(x-2)= A 0, x> o] A5E F5tofzt,

x(x=1D(x+1)(x-2)

= {x(x = DH(x+ 1)(x - 2)}

=x2-x)(x2-x-2)

x2 0] A5S Ff ok SFEE —2x2 + x2 = —x2 A x2 9] AFLE
~1olc},




12, x(x+2)(x=3)(x=5) = x* + ax® + bx? + cx WA &5 a, b, c 9] T
a+b+co s Fsteiet
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> e 23
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x(x+2)(x=3)(x—5)

(x=3)H(x+2)(x - 5)}

2~ 3x)(x% - 3x - 10)
x? - 3x =t 2 X3S #(r - 10) = 2 — 10¢
t=x* - 3x 5 WAt Aot x* - 6x% — x* + 30x
w2t a+b+c=—-6-1+ 30 = 23 °|t}.
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® -5 @—8 @ -10 @ -12

® -14
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(x=y)%+2xy = x> +»°
25+ 2xy = 9
2xy = -16

Loxy=-8




15.

x4+y=5 x4y =13 4w, xy o] gk2?

® -6 @ -12 ® 4 @6
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® 12

(x+3)% =2 + 2xy +y°
25 = 13 + 2xy

2xy = 12

Soxy==6




16. a+b=6,ab=8 < W, a®+b% 9] F2?

Do @ 10 ® 15 @ 18 @20

a?+b%=(a+b)?-2ab°]EE, 62 -2x8=236—-16 =20




17. x+y=3,xy=-4 & o, (x-y)? & 327

©0 @» o7 @ 5 ® 10

(x=y)2=(x+y)?—4xy=32-4x%x(-4) =25
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oA x10 = (x%)3 x x = x O] B& x10 + 0 =
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foat oyt = (a2 4 92)2 - 222
= (1)2 - 2% (-3)*
=31




ar?) = (~2a)
as?) = (~2av)

1
2
1
2

ab —
ab —

3
1
J
1

a’b +
ab +

2
3
2
3

(
(

)
3ab

3 1 ) (
2 e _ . h2 _
ab+4ab 2ab X

2
3




21.

the 2 o] 42750 Rajrt (3abp?)t A w, 42752 wolE?

<N (3b)?
5a’b/ | ( )\\
I | \
|
I
AN
/ ~o
/ ~
/ \\
2 2
@) §a2b5 @ E7ab6 ® 1—(7)a2b5
8 4 18 5
@ 15ab @ 5 a“b
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22, (x+a)(x-3)=x*+bx+11 & W, a+ b9 F2?

31 29 28
D-5 @-0 60-2 @-F 09

B

(x+a)(x-3)=x*+(a-3)-3a=x>+bx+ 11
a-3=b,-3a=11

11 2
wha}A a=-= ,b=—§0 OIEE,a+b=_% o},




23. JA TS o8t (x-7)(5x +a) B AMSHAS ®, x o] AS7t
=30 o|t}. oldf] &= a 9] g2 FSheiEt
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> HEe:a=5
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(x=T7)(5x+a) =5x%> + (a—35)x—Ta
x 9 A%7t -30 o] B&

a—-35=-30

SLa=9




24. (2x+ay)? =bx® +cxy+9y* 4 W, a-b+c o G2 FStolzh(H,
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(2x + ay)? = 4% + daxy + a*y?

4x% + 4axy + a*y? = bx® + cxy + 9y?

b=4

a’=9

a=3(a>0)

4a=c

Se=12

a-b+c=3-4+12=11




25. the TS AE o, A9 % 97 gk AL

(x+y+1)(x-y+1)

© AAHerE 9] A 2],

@ WAAS el Azt 4 Aoltt

@) -1 =12 A1l WA 4 Act.

© (at b = a® + 2ab + 179 T4 BAE 01 8% % 9Iek

® (a+b)a=b) =a? 5> FA FAE 14T 5 k.

~&B

(x+y+1(x-y+1)
={(x+1) +yH(x+1) -y}
x+1=r2t 59
t+y)(t-y) ==y
t=x+1€ fgabd
(x+1)2 =y
=x2+2x+1-)?




26. (x+1+2y)(x+1-2y)5 AN ALY

O x2-2y-4y?+1 @ x2-4xy+1
@ x*-2xy—4y?+1 @x2+2x—4y2+1

® x?2-2x+4y*+1

B

x+1=r25td
(x+1+42y)(x+1-2y)
= (t+2y)(t - 2y)

— 12— 4y?

= (x+1)? - 4?
=x2+2x-42%+1




27.

B

@—12 @ -6 ®1

(3x — 2y — 2)2 o] N2 A xy o] A2

@ 4

(3x—2y-72)2

oA 3x -2y = AR Z]35PH
(A-2)?

=A% -2z 4+ 72

= (3x—2y)% - 22(3x - 2y) + 2

A Ao A xy 9] ol HeEs A=
2x3xXx -2y = —12xy°| B2

xy 9] Alg= -120]t}.




28. o= A= AAskE?
(2x+3y-4)(2x-3y+4)

@® 4x? -y +y-16 @ 4x? -y +9y-16
® 4x2-9y> +y-16 @ 4x? 4+ 9y? —24y - 16
@4)(2—9)/2 + 24y - 16

B

{2x+ @By-4)} {2x- (38y-4)}
3y—4 =2 st
(2x+1)(2x—1)

= 4x? - 12

t=3y—-4E HYstH

4x% — (3y — 4)?

= 4x? - 9y? 4+ 24y - 16




29. (2x-3y+ 1) AAANM xy o] AE A, yo A€ B 23}
A - B2 gh& Fsteiet
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2x — 3y =t 5FH

(2x-3y+1)2 = (t+1)2

P +2t+100r=2x-3yE YsHA
(2x—3y)2+2(2x—3y) +1 =4x> - 12xy + 9y® + 4x— 6y + 1
TehA xy o] Alg= -120]1 y O] AlpE -60] 2=
A-B=-12-(-6) = —6°|t}.




30. (a+b)(a—b)=a*-b*> 2 o83t ALtst7] 7 4ot

@® 1982 @ 1012 @ 47 x 53

@ 101 x 103 ® 203 x 302

B

@ 1982 = (200 - 2)2

@ 1012 = (100 + 1)?

® 47 x 53 = (50 - 3)(50 + 3)

@ 101 x 103 = (100 + 1)(100 + 3)

® 203 x 302 = (2 x 100 + 3)(3 x 100 + 2)




31. 102x98 = AT o, 4] F45 o]gst 1L
ARt A7

(a+b)? =a®+2ab + b?
(a—-b)? = a® - 2ab + b?

(a+D)(

© o o

a-b)=a*-b*
@ (x+a)(x+b)=x*>+(a+b)x+ab
© (

ax + b)(cx +d) = acx® + (ad + be)x + bd

(100 4 2)(100 — 2) = 1002 — 2% = 9996




32.

D 2012 = (a-b)?

@ 499° = (a+b)?

® 9972 = (a+b)(a—b)

@ 103x97 = (ax+b)(cx+d)
@104x105 = (x+a)(x+b)

B

@ 2012 = (200 + 1)2 = (a + b)?

@ 4992 = (500 — 1)2 = (a — b)?

® 9972 = (1000 — 3)2 = (a — b)?

@ 103 x 97 = (100 + 3)(100 — 3) = (a + b)(a — b)
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34.

1
(4xy = x%y = 3xy%) = Sy

= (- By -3n02%) + 2

= (4xy — %y — 3xy?) X —
Xy
=8-2x% -6y
A AL -2,y o AF -6, ST 8
o] & FotH -2-6+8 =10 o[tk
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(4+2)(42+22) (44+24) (48+28) (416+216) (432+232)+263
—9()

@® 126 @127 ® 128 @ 129 ® 130

—

4+2) (42+22) (44+24) (48+28) (416_|_216) (432+232) oﬂ

N =

X
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[
B
i
I
S
o,

N | =

x (1-2) =1 0|2 4°] e WaA] gert)

(4-2)(4+2)(42 +22)(4% + 2%) (45 + 28) (416 + 216) (432 4 232)

DN | =

X(42_22)(42+22)(44+24)(48+28) (416+216)(432+232)
X(44_24)(44+24)(48+28)(416+216) (432+232)
X(48_28)(48+28)(416+216)(432+232)

% (416 _216)(416 _,’_216)(432 +232)

1
% (432 _ 232)(432 4 232) — 5(464 _ 264)

N= N~ N~ N N~ N

(2128 _ 264)
_ 2127 _ 963

wheba] FolFl Al (2127 - 263) 4 263 = 2( ) o]B =
no20) =127 ~()=127




36.

xby=3 ay=2 QT 4yt 2] gL

@ 15 @16 @7 @ 18

® 19

P4y =(x+y)>?-2xy=38"-2x2=5
byt = (P 4y - 2(y)? =25 -2%x4 =17




37. atb=3a+b =5a>b L, -2 o kg Telolat
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>
> ®et: 9
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a®>+b> = (a+b)?—2ab="5 AN ab =2
(a=b)? = (a+b)? - 4ab ©| B2
“a-b=1(a>b)

ab 2




38. (@a+2)(b+2) =12, ab=2 % W, a-b 9 g Fotod=t. (H,
a<b)

> E

> Hg: 1

B ~

(a+2)(b+2)=ab+2(a+b)+4=120°]1 ab =2 °|BEE
a+b=3

“(a-b)?=(a+b)?-4ab=3?>-8=1
a<bZ,a-b<0°E2E g—b=-10|t}




39. x+y=9, xy=3< o, x> +y%—xy 9 %27

O 52 @ 56 ® 60 @72

® 80

2 —xy+y* =(x+y)%-3xy
—92_-3x3
=72
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